
ТЕМА УРОКА: «РЕШЕНИЕ ПРИМЕРОВ В НЕСКОЛЬКО 
ДЕЙСТВИЙ».



  

                Решить примеры:

       96:3Х2=                             28+13Х3=  
       22:2Х5=                              96-56:7=
       26:2Х3=                            23Х(51-48)= 
       69:3Х2=                            42:(71-69)=   



                     Решить задачу:
                       с. 212 №135



                     Краткая запись:

        На 5 тарелках- ? по 6 пирожков
        Разложили     - 27 пирожков
        Осталось         - ?



               Решение задачи:

              5Х6=30 (пирожков)
               
              30-27=3

              Ответ: 3 пирога осталось 
разложить.



                     

                  Решить примеры:

             с. 211 № 125 ( 1 и 2 столбик).

            



        

                Ответы:
   
  390, 130, 210, 0, 240, 40, 110, 
350.


